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6807. Digital Plotter O#l4

HE B BERRREREENES)

1. HB #£ 1 KcldT X57% 16 O unit
step b UL THEBELELT 5.

6 4
8 7 5 3 2 17 (up)
N t
l
1o 1 13\ |5 |16 18 (down)
12 14
# 1X Unit step
2. K% #HXhd step D5H, FO step O

RO TXEERCE LA OXELTHL.
i) EHEHFE 1 Hexadecant i 5855,
Vi,=Aa—3-Ab, I=0
3L Vi>0 75 step 1 #3320,
Vig1=Vi—2:Ab, I=I+1 &33%.
H L Vi<0 725 step 2 #5E,
Vit1=Vi—4+:Ab+2+Aa, I=14+2 LT 5%.
Zhi I=Aa 2/t ¥ CTHERVIET. XL Aa=0
B, b Ligw,
ii) EHHE 2 Hexadecant 1= 284,
V;=3-Ab—Aa, I1=0
B L Vi>0 /b step 3 ZHEU,
Vi =V +2-Ab—2-Aa, I=I+1
3L V<0 7nh step 2 FHE,
Vis1=Vi+4-Ab—2-Aa, I=14+2 L%,
Zhk I=Aa i D ECHEVET. KL Aa=0
e d Lich,

15,
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E#f2Mbo Hexadecant iob 2 HA S, MFHMRE
b, Lo oDBECEILTES.

Dl bofgoBU &z, ) A1), @) &Ry
X.
8. Fwr3Ax CalComp » SCOOP» (Stand-
ard CalComp On-line Off-line Plotting Package) iz
%%, PLOT routine # FORTRAN® TR\ T3
5. 2RIz A BT, BnicdDTh b,

(4a, 4b)
]
e
=
0,0
B2 EHKOEM
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SUBROUTINE PLOT(X,Y,IPEN) 21! 1COP=1
Ceess X AND Y ARE_ _THF POINT IO
[ WHICH THE PEN IS TO BE MOVED [3] TU;O
c IPEN =
C ITS MOVEMENT, 1 FOR NO CHANGE, 2 FOR PFN DOWN IcoN=2
s o3 _FOR_PEN WP GO 1O 43
[ 17 THE SICN OF IPEN 1S NEGATIVE THE VALUE X0 23 ICDP=3
—C _ __ Y=0 ARF ASSIGNED Tn THF NEW_PEN LOCATION. ICON=4
COMMON X0+YOsXP,YP, IPENP G0 TO &1
_.Ceavs CHECK SCALE QUT._ X0 AND YO ARE THE COORDINATE =35
[ OF CURRENT ORIGIN WITH RESPFCT TO ORIGINAL 1CON=&
€. .. __COORDINATE._ INITIALLY T ET. _ZERQ e 60 T0 40
c LIMIT OF Y AXIS IS 25.0 CY 25 ICDP=5
e JECX$XQ). 602 1s1 .
1 IF(Y+Y0) 6042,2 G0 TO &0
2 IFLY+YN-25.0) 3:.3.£0 e 26 1C0P=7
“Cawss COMPARE CURRENT AND INPUT PEN STATE TO AVOID ICDN=§
— L. .- UNNFCFSSARY. PEN_ORERATION.. IPEN . IS CURKFNT. ..o G0 _TO &1
c PEN STATE AND INITIALLY SET 3 (UP) 27 1CDP=7
e e 3. LECXABSECTPENY ~IPENP ) Mool vooces e e CDN=§
“Cosve TEST INPUT PEN STATE G0 T0 &1
o4 LF(XABSF(IPEN)-2) 74546. ... IR 28 ICOP=9
Cesse SUBROUTINE OUTCD IS A SPECIAL ROUTING TO 0UT- ~ICON=8"
L ... PUT PLOTTER.CONTROL .SIGNALS ACCOROING. TO. THE ---ov GO _TO 40
c CNDE SHOWN IN FIG 1 29 1CDP=9
_. 5 CALL QUTCRCIR). .. - ICON=10
G0 TO 7 C0 10 40
.. ... 6 CALL DUTCDC17).. . .. 30 I1cop=11
Css*» CONVERT TO INTEGER CQURDINATE AND TASE DIF= N=10
z . FERENCE FROM. CURRENT COORDINATE, XP_AND YR ___ .. GO 10 &1
c ARE CURRENT COORDINATE AND INITIALLY SFT 2FRO ’ =11
e 7 T2X=XINTE(X25004Q+5)=XINTE (XP¥50,04045) 12
IDY=XINTF(Y#50.040.5)=XINTF(YPs50+042+5) . 41
- ... IDXABS=XABSFCIDX) . _ 32 IcpP=13
1DYABS=XA3SF (1Y) TCON=1Z
Ceeex DISCRIMINATE HEXADECANT_ANO SELECT UNXT STEPS. . G0 T0 40
c » DELTA A AND DELTA B =13
. Isw=1 1CDN=14
IFCIDX) 9,8,8 TU 10 40
B ISUSISYEY - __ 34 ICOP=1S.
9 IFC(IDY) 11.10410 _Coﬁgrd:t:l
o 1D 1SWSISWH2 . _ e G
11 IF(1)XABS-I1DYABS) 13.12,12 35 =15
12 ISWEISMeN o ICON=1%
137 TDA=XMAXOF (IDXABS.1DYABS) GO 10 &1
oo .. JIOB=XMINOF ( IDXABS, IDYARS) 3§ ICDP=y-
TFCIDA-1D3#2) 15,14,14 ICON=18
L14 ISW=1SW+8 GO TD 40 .
15 G0 TO (31,34,25,23430,35,27,22,32433,25.24. C#ess CALCUCRTE NABRA™ AND* GELTA VABRA ACCORDING TO
JEU I L R9036028s20 20 XSW el c HEXADECANT SELECTED
40" NABRA=IDA-3+1p8
_NBRDP=-2¢1D8

__._._G,.U..TU 42
41 NABRA=3+IDB-2+1DA
NBROP=2#138-2s1DA
NRRDN=4% ID3-2s DA
Cs2ss OUTPUT | P.L_...ER CONTROL SIGNAL SO THAT PEN IS
[4 MOVED TO (X,Y
.42 I=0
48 IFCI-1DA) 43.47,47
43 IF(NABRA) 45,4l4,44
44 CALL OUTCDCICOP)
- NABRA=NABRA+NBRDP
I=I+1

GD_T0_u4§
45 CALL OUTCODCICON)
_NABRA=NARRA+NBRON

I1=1+42
01046
W7 IFCIPENY 51,50,50
£2;' ;E,T. XP_AND YP To CURRENT COORDINATE
0 Xp=X
- ¥PEY. —_——
GD TO s2
Ceess SHIFT QRIGIN. SET X0 AND YO TD ZERQ IF IPEN..
C IS NEGATIVE
21 X0SX0%X
YO=Y O+Y
—— {.C
YP=0
Lesse SET CURRENT. PEN STATE . .. ...
52 IPENP XABSF(IPEN)

. RYTUR
“Cossrs PR!NT ERROR MESSAGE IF SCALE OUT AND TA<E AN
c APPROPRIATE MEASURE

50 WRITE OUTPUT TAPE 4,51
—-—.51 EODRMAT(30H SCALE 0UT. PPOGRAM IERMINATED)
CALL EXIT
END .
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